[ X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXMA/1-6800102-00001XX
Set02 Answers for No.10441

n(4d U B)=23 n(4)=19 n(B)=17
Ansl=| n(A-B)=5 n(B-4)=7 n(4d U B)=28
n(d U B)=24 n(A4-B)=11 n((4 N B))=24

n(union(4, B, C)) =39 n(d-B)=9 n(d nC)=8

Ans2 = n(C—A4)=10 n(intersect(4, C, B))=2 n((4 U B)-C)=18
n(C (4 UB))=5 n(C-(4 N B))=12 nd-B-C)=7
Ans3 =[ans.1 =30, ans.2 =57, ans.3=26], , Ans4=18, , Ans5=19

Ans6=8, , Ans7=2, , Ans8=48, , Ans9=16, , Ansl0=100
X Math@MUT XXXXXXXXXXXXXXXXXKXXXXXKKKKXXXXKKKKKXXXXKKKKKXXM4E /1-6800102-00002XX
Set02 Answers for No.10442

n(4d U B)=34 n(4)=12 n(B)=21
Ansl=| n(A-B)=14 n(B-4)=5 n(4d U B)=36
n(4d U B)=26 n(4-B)=15 n((4 N B))=26

n(union(4, B, C)) = 43 n(d-B)=38 nd n C)=11
Ans2 = n(C-A4)=15 n(intersect(4, C, B))=0 n((4 U B)—C)=20
n(C (4 UB))=9 n(C-(4n B))=15 n(d-B-C)=8
Ans3 =[ans.1 =31, ans.2 =58, ans.3=14], , Ans4=11, , Ans5=8
Ans6=11, , Ans7=7, , Ans8=52, , Ans9=11, , Ansl0=0

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXM4E /1-6800102-00003XX
Set02 Answers for No.10469

n(4d U B)=26 n(4)=26 n(B)=25
Ansl=| n(A-B)=10 n(B-A)=11 n(4 U B)=30
n(d U B)=36 n(d-B)=5 n((4 N B))=36

n(union(4, B, C)) = 36 n(d-B)=6 nd N C)=16

Ans2 = n(C—A4)=13 n(intersect(4, C, B))=2 n((4 U B)—C)=22
n(C (4 UB))=1 n(C-(4 n B))=15 nd-B-C)=4
Ans3 =[ans.1 =34, ans.2 =54, ans.3=25], , Ans4=23, , Ans5=15
Ans6=11, , Ans7=3, , Ans8=49, , Ans9=5, , Ansl0=110

X Math@MUT XXXXXXXXXXXXXXXXXKXXXXXXXXXXXXXXX XXX XXXXKXXXKXKXKXKXXME /1-6800102-00004XX
Set02 Answers for No.10479

n(d U B)=34 n(4)=25 n(B)=19
Ansl=| n(A-B)=7 n(B-A4)=13 n(4 U B)=33
n(d U B)=32 n(A4-B)=14 n((4 n B))=32

n(union(4, B, C)) = 26 n(4-B)=13 nd nC)=12

Ans2 = n(C—A4)=3 n(intersect(4, C, B))=9 n((4 U B)-C)=12
n(Cn (4 UB))=2 n(C-(4n B))=12 n(d—-B-C)=4
Ans3 =[ans.1 =39, ans.2=51,ans.3=11], , Ans4=17, , Ans5=15
Ans6=16, , Ans7=3, , Ans8=39, , Ans9=11, , Ansl0=20

X [Page = 0001] XXXXXXXXXXXXXXXKKXKXKXKXXXXKXKXKKKKKKKKKKKKXKKKXXXKXX XXX XX KK XXXXXKKKKKX




X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXM4E /1-6800102-00005XX
Set02 Answers for No.10506

n(4d U B)=34 n(4)=24 n(B)=18
Ansl=| n(A-B)=7 n(B-4)=13 n(4d U B)=32
n(4d U B)=31 n(4-B)=14 n((4 N B))=31

n(union(4, B, C)) = 44 n(4-B)=19 n(d N C)=15
Ans2 = n(C—A4)=10 n(intersect(4, C, B))=10 n((4 U B)-C)=16
n(C N (4 UB))=5 n(C-(4 N B))=20 nd-B-C)=9
Ans3 =[ans.1 =40, ans.2 =63, ans.3 =261, , Ans4=18, , Ans5=14
Ans6 =14, , Ans7=1, , Ans8§=41, , Ans9=3, , Ansl0=060

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXM4E /1-6800102-00006XX
Set02 Answers for No.10514

n(4d U B)=18 n(4)=13 n(B)=10
Ansl=| n(4-B)=5 n(B-4)=8 n(d4d U B)=15
n(d UB)=18 n(d4-B)=5 n((4 n B))=18

n(union(4, B, C)) =37 n(d-B)=5 nd n C)=11

Ans2 = n(C-—A4)=19 n(intersect(4, C, B))=0 n((4 U B)—C)=10
n(C (4 UB))=1 n(C-(4 N B))=19 n(Ad-B-C)=5
Ans3 =[ans.1 =30,ans.2 =48, ans.3=17], , Ans4=14, , Ans5=16
Ans6=14, , Ans7=6, , Ans8=51, , Ans9=11, , Ansl0=10

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXM4E /1-6800102-00007XX
Set02 Answers for No.10520

n(4d U B)=23 n(d4)=22 n(B)=26
Ansl=| n(A-B)=11 n(B-4)=7 n(4 U B)=31
n(d U B)=33 n(4-B)=5 n((4 n B))=33

n(union(4, B, C)) =51 n(d-B)=12 nd nC)=12
Ans2 = n(C—A4)=16 n(intersect(4, C, B))=5 n((4 U B)—C)=22
n(C (4 UB))=6 n(C-(4n B))=21 nd-B-C)=17
Ans3 =[ans.1 =39, ans.2 =62, ans.3=16], , Ans4=13, , Ans5=7

Ans6=14, , Ans7=9, , Ans8=39, , Ans9=12, , Ansl0=120
X Math@MUT XXXXXXXXXXXXXXXXXKXXXXXXXXXXXXXXXXKXXXKXXXKXXXKXKXKXKXXME /1-6800102-00008XX
Set02 Answers for No.10638

n(4d U B)=27 n(4)=17 n(B)=16
Ansl=| n(4-B)=9 n(B-4)=10 n(4 U B)=24
n(d U B)=26 n(4-B)=8 n((4 N B))=26

n(union(4, B, C)) =59 n(4d-B)=16 nd nC)=14
Ans2 = n(C-A4)=19 n(intersect(4, C, B))=10 n((4 U B)-C)=17
n(Cn (4 UB))=9 n(C—(4 N B))=29 nd-B-C)=6
Ans3 =[ans.1 =36, ans.2 =56, ans.3=23], , Ans4=21, , Ans5=13
Ans6=11, , Ans7=8, , Ans8=44, , Ans9=12, , Ansl0=60

X [Page = 0002] XXXXXXXXXXXXXXKKKXKXKXKXXXKXKXKXKKKKKKKKXKXKKKXKKKXXX XXX XXX XXX XXKXXKKKKKXK



X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXM4E /1-6800102-00009XX
Set02 Answers for No.10639

n(d U B)=29 n(4)=17 n(B) =14
Ansl=| n(A-B)=8 n(B-A4)=11 n(4d U B)=24
n(4d U B)=25 n(4-B)=10 n((4 N B))=25

n(union(4, B, C)) = 36 n(4-B)=19 nd nC)=6
Ans2 = n(C—-A4)=11 n(intersect(4, C, B))=9 n((4 U B)—-C)=14
n(C (4 UB))=0 n(C-(4 N B))=20 n(d-B-C)=10
Ans3 =[ans.1 =27,ans.2 =51, ans.3=15], , Ans4=22, , Ans5=24

Ans6=9, , Ans7=9, , Ans8=53, , Ans9=16, , Ansl0=40
X Math@MUT XXXXXXXXXXXXXXXXXKXXXXXKXXKXXXXKKKKKXXXXKKKKKXXM4E /1-6800102-00010XX
Set02 Answers for No.10671

n(4d U B)=31 n(4)=22 n(B)=18
Ansl=| n(A-B)=8 n(B-A4)=12 n(4d U B)=29
n(4d U B)=30 n(4-B)=11 n((4 n B))=30

n(union(4, B, C)) = 26 n(d-B)=1 nd N C)=19

Ans2 = n(C—A4)=3 n(intersect(4, C,B))=1 n((4 U B)-C)=17
n(C N (4 UB))=4 n(C-(4 N B))=4 nd-B-C)=0
Ans3 =[ans.1 =37, ans.2 =48, ans.3=13], , Ans4=15, , Ans5=23
Ans6=12, , Ans7=10, , Ans8=51, , Ans9=5, , Ansl0=90

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXM4E /1-6800102-00011XX
Set02 Answers for No.10751

n(4 U B)=35 n(4)=29 n(B)=25
Ansl=| n(A-B)=11 n(B-A4)=15 n(4 U B)=34
n(d U B)=40 n(4-B)=9 n((4 N B))=40

n(union(4, B, C)) =53 n(d-B)=14 n(d n C)=15

Ans2 = n(C—A4)=16 n(intersect(4, C, B))=7 n((4 U B)—-C)=21
n(C (4 UB))=4 n(C-(4 N B))=23 nd-B-C)=17
Ans3 =[ans.1 =29,ans.2 =44, ans.3=11], , Ans4=14, , Ans5=23

Ans6=14, , Ans7=3, , Ans8=38, , Ans9=14, , Ansl0=50
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXKKXXXXXKKKKXXXXKKKKKKXMA /1-6800102-00012XX
Set02 Answers for No.10772

n(4d U B)=36 n(4)=18 n(B)=21
Ansl=| n(4-B)=12 n(B-4)=9 n(4 U B)=36
n(d U B)=30 n(4-B)=15 n((4 n B))=30

n(union(4, B, C)) =39 n(d-B)=11 n(d nC)=8
Ans2 = n(C—A4)=10 n(intersect(4, C, B))=2 n((4 U B)-C)=18
n(Cn (4 UB))=5 n(C-(4n B)=12 n(d-B-C)=9
Ans3 =[ans.1 =33, ans.2=52,ans.3=12], , Ans4=17, , Ans5=7

Ans6=14, , Ans7=7, , Ans8=53, , Ans9=10, , Ansl0=20
X [Page = 0003] XXXXXXXXXXXXXXXXXXXXKXXXXXXXXXXXXXXXXKKXXXXXKKKKXXXXKKKKKXXXKK



X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXM4E/1-6800102-00013XX
Set02 Answers for No.10777

n(d U B)=24 n(4)=19 n(B)=21
Ansl=| n(4-B)=8 n(B-A4)=6 n(4 u B)=31
n(4d U B)=27 n(4-B)=10 n((4 N B))=27

n(union(4, B, C)) =28 n(4-B)=10 n(d nC)=8

Ans2 = n(C—-A)=4 n(intersect(4, C, B))=8 n((4 U B)—C)=10
n(C (4 UB))=4 n(C-(4 N B))=12 nd-B-C)=2
Ans3 =[ans.1 =39, ans.2 =51,ans.3=16], , Ans4=15, , Ans5=27
Ans6=12, , Ans7=7, , Ans8=44, , Ans9=15, , Ansl0=140

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXM4E /1-6800102-00014XX
Set02 Answers for No.10816

n(4d U B)=24 n(d4)=23 n(B) =21
Ansl=| n(A-B)=7 n(B-4)=9 n(4d U B)=29
n(d U B)=30 n(4-B)=8 n((4 n B))=30

n(union(4, B, C)) = 49 n(4d-B)=16 nd n C)=11
Ans2 = n(C—A4)=14 n(intersect(4, C, B))=6 n((4 U B)-C)=17
n(C (4 UB))=7 n(C-(4 N B))=20 n(d-B-C)=10
Ans3 =[ans.1 =42, ans.2 =68, ans.3=26], , Ans4=10, , Ans5=20

Ans6=14, , Ans7=9, , Ans8=48, , Ans9=6, , Ansl0=80
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXM4E /1-6800102-00015XX
Set02 Answers for No.10818

n(4 U B)=30 n(4)=29 n(B)=20
Ansl=| n(4-B)=6 n(B-A)=15 n(4 U B)=29
n(d U B)=35 n(d-B)=9 n((4 n B))=35

n(union(4, B, C)) =43 n(4-B)=13 nd N C)=13

Ans2 = n(C—A4)=11 n(intersect(4, C, B))=8 n((4 U B)—-C)=21
n(C (4 UB))=2 n(C-(4 N B))=19 n(Ad-B-C)=5
Ans3 =[ans.1 =32,ans.2 =58, ans.3=17], , Ans4=11, , Ans5=13

Ans6=8, , Ans7=4, , Ans8=37, , Ans9=12, , Ansl0=100
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXKKXXXXXKKKKXXXXKKKKKXXMA /1-6800102-00016XX
Set02 Answers for No.10827

n(4d U B)=35 n(4)=19 n(B)=23
Ansl=| n(4-B)=14 n(B-A4)=10 n(4 U B)=34
n(d U B)=33 n(A4-B)=11 n((4 n B))=33

n(union(4, B, C)) =31 n(d-B)=13 nd nC)=4
Ans2 = n(C-A4)=9 n(intersect(4, C, B))=10 n((4 U B)-C)=8
n(Cn (4 UB))=6 n(C-(4 N B))=19 n(d-B-C)=3
Ans3 =[ans.1 =31,ans.2=53,ans.3=11], , Ans4=19, , Ans5=6

Ans6=6, , Ans7=9, , Ans8=39, , Ans9=13, , Ansl0=70
X [Page = 0004] XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXKKXXXXXKKKKXXXXKKKKKXXKKK



X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXM4E /1-6800102-00017XX
Set02 Answers for No.11443

n(4d U B)=27 n(4)=25 n(B)=21
Ansl=| n(A-B)=9 n(B-A4)=13 n(4 U B)=26
n(d U B)=34 n(Ad-B)=5 n((4 N B))=34

n(union(4, B, C)) = 43 n(d-B)=12 n(d n C)=18
Ans2 = n(C—A4)=8 n(intersect(4, C, B))=10 n((4 U B)-C)=16
n(C N (4 UB))=9 n(C-(4 N B))=18 nd-B-C)=2
Ans3 =[ans.1 =47, ans.2 =72, ans.3=15], , Ans4=13, , Ans5=19
Ans6=17, , Ans7=9, , Ans8=45, , Ans9=15, , Ansl0=0

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXM4E /1-6800102-00018XX
Set02 Answers for No.11795

n(4d U B)=30 n(4)=23 n(B)=15
Ansl=| n(A-B)=5 n(B-4)=13 n(d U B)=27
n(4d U B)=28 n(4-B)=12 n((4 N B))=28

n(union(4, B, C)) =39 n(d-B)=12 nd nC)=12

Ans2 = n(C-A4)=15 n(intersect(4, C, B))=7 n((4 U B)—-C)=14
n(C (4 UB))=5 n(C-(4 N B))=22 n(Ad-B-C)=5
Ans3 =[ans.1 =33, ans.2=51,ans.3=27], , Ans4=21, , Ans5=20

Ans6=13, , Ans7=0, , Ans8=66, , Ans9=8, , Ansl0=130
X Math@MUT XXXXXXXXXXXXXXXXXKXXXXXKXKXKXXXXKKXKKXXXXKKKKKXXM4E /1-6800102-00019XX
Set02 Answers for No.11874

n(4d U B)=33 n(4)=21 n(B) =14
Ansl=| n(A4-B)=7 n(B-4)=14 n(4d U B)=26
n(d U B)=28 n(A-B)=12 n((4 n B))=28

n(union(4, B, C)) =25 n(d-B)=6 nd N C)=3

Ans2 = n(C—A4)=12 n(intersect(4, C, B))=4 n((4 U B)-C)=9
n(C N (4 UB))=1 n(C-(4 N B))=16 nd-B-C)=2
Ans3 =[ans.1 =49, ans.2 =63, ans.3=12], , Ans4=19, , Ans5=19

Ans6=12, , Ans7=0, , Ans8=50, , Ans9=24, , Ansl0=40
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXKKXXXXXKKXKXXXXKKKKKKXMA /1-6800102-00020XX
Set02 Answers for No.11877

n(4d U B)=34 n(4)=19 n(B)=28
Ansl=| n(4-B)=14 n(B-4)=5 n(4 U B)=43
n(d U B)=33 n(4-B)=15 n((4 n B))=33

n(union(4, B, C)) =31 n(d-B)=11 nd nC)=5

Ans2 = n(C-A4)=9 n(intersect(4, C, B))=8 n((4 U B)-C)=16
n(Cn (4 uUB))=3 n(C-(4n B)=17 n(d-B-C)=3
Ans3 =[ans.1 =27, ans.2 =53, ans.3=20], , Ans4=13, , Ans5=14
Ans6=17, , Ans7=4, , Ans8=38, , Ans9=1, , Ansl0=140

X [Page = 0005] XXXXXXXXXXXXXXKKKXKXKXKXXKXXKXKXKKKKKKKKKXKKKXKXKKXKXXKXXX XXX XXX XXXXXKKKKKX



X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXM4E /1-6800102-00021XX
Set02 Answers for No.11945

n(4d U B)=35 n(4)=28 n(B)=23
Ansl=| n(A-B)=8 n(B-A4)=13 n(4 U B)=37
n(4d U B)=36 n(4-B)=14 n((4 N B))=36

n(union(4, B, C)) =39 n(d-B)=12 nd nC)=6
Ans2 = n(C—A4)=12 n(intersect(4, C, B))=8 n((4 U B)-C)=16
n(C (4 UB))=1 n(C-(4 N B))=20 nd-B-C)=4
Ans3 =[ans.1 =47, ans.2 =69, ans.3 =221, , Ans4=7, , Ans5=10

Ans6=10, , Ans7=8, , Ans8=50, , Ans9=22, , Ansl0=130
X Math@MUT XXXXXXXXXXXXXXXXXKXXXXXKXKXKXXXXKKKKKXXXXKKKKKXXME /1-6800102-00022XX
Set02 Answers for No.12216

n(d U B)=28 n(4)=17 n(B) =24
Ansl=| n(4-B)=12 n(B-A4)=5 n(d4 U B)=35
n(4d UB)=29 n(4-B)=11 n((4 N B))=29

n(union(4, B, C)) = 48 n(4-B)=13 n(d N C)=10

Ans2 = n(C—A4)=18 n(intersect(4, C, B))=4 n((4 U B)—C)=20
n(C (4 UB))=2 n(C-(4 N B))=22 nd-B-C)=9
Ans3 =[ans.1 =39, ans.2=50,ans.3=24], , Ans4=19, , Ans5=14

Ans6=16, , Ans7=7, , Ans8=43, , Ans9=10, , Ansl0=20
X Math@MUT XXXXXXXXXXXXXXXXXKXXXXXKXKXKXXXXKKKKKXXXKKKKKKXXM4E /1-6800102-00023XX
Set02 Answers for No.13077

n(4d U B)=26 n(4)=20 n(B) =14
Ansl=| n(A-B)=5 n(B-4)=11 n(4d U B)=24
n(d U B)=25 n(4-B)=10 n((4 N B))=25

n(union(4, B, C)) =31 n(d-B)=2 n(d N C)=18

Ans2 = n(C—A4)=16 n(intersect(4, C,B))=1 n((4 U B)-C)=15
n(C (4 UB))=1 n(C-(4 N B))=17 nd-B-C)=1
Ans3 =[ans.1 =52, ans.2 =64, ans.3=12], , Ans4=22, , Ans5=13
Ans6=13, , Ans7=9, , Ans8=51, , Ans9=7, , Ansl0=50

X Math@MUT XXXXXXXXXXXXXXXXXKXXXXXXXXXXXXXXXXXXXKXXXKXXXXKXKXKXXME /1-6800102-00024XX
Set02 Answers for No.13084

n(d U B)=35 n(4)=17 n(B)=18
Ansl=| n(4-B)=13 n(B-A4)=12 n(d U B)=28
n(d U B)=30 n(4-B)=10 n((4 n B))=30

n(union(4, B, C)) = 30 n(d-B)=5 n(d n C)=11
Ans2 = n(C-A4)=9 n(intersect(4, C, B))=2 n((4 U B)—-C)=14
n(Cn (4 UB))=10 n(C-(4 n B))=11 n(d-B-C)=3
Ans3 =[ans.1 =37,ans.2 =60, ans.3=13], , Ans4=14, , Ans5=18
Ans6=10, , Ans7=2, , Ans8=42, , Ans9=22, , Ansl0=70

X [Page = 0006] XXXXXXXXXXXXXXKKKXKKXKXKXXXKXKXKKKKKKKKKKKKXKXKKXKXX XXX XXX XXX XXKXXKKKKKXK



X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXM4E /1-6800102-00025XX
Set02 Answers for No.13098

n(4d U B)=36 n(4)=16 n(B)=25
Ansl=| n(A-B)=15 n(B-A4)=6 n(4d U B)=40
n(4 U B)=31 n(4-B)=15 n((4 N B))=31

n(union(4, B, C)) = 44 n(d-B)=38 nd nC)=4

Ans2 = n(C—-A4)=17 n(intersect(4, C, B))=5 n((4 U B)-C)=17
n(C (4 UB))=9 n(C-(4 N B))=22 n(d-B-C)=3
Ans3 =[ans.1 =32,ans.2=55,ans.3=19], , Ans4=17, , Ans5=16

Ans6=16, , Ans7=8, , Ans8=50, , Ans9=14, , Ansl0=90
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXM4E /1-6800102-00026XX
Set02 Answers for No.13790

n(4d U B)=38 n(4)=25 n(B)=26
Ansl=| n(A-B)=15 n(B-4)=14 n(4 U B)=35
n(d U B)=40 n(4-B)=9 n((4 N B))=40

n(union(4, B, C)) =37 n(d-B)=8 nd nC)=4
Ans2 = n(C—A4)=13 n(intersect(4, C, B))=0 n((4 U B)-C)=12
n(C (4 UB))=10 n(C—(4 N B))=13 nd-B-C)=8
Ans3 =[ans.1 =33, ans.2=47,ans.3=24], , Ans4=18, , Ans5=16
Ans6=14, , Ans7=4, , Ans8=49, , Ans9=11, , Ansl0=60

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXM4E /1-6800102-00027XX
Set02 Answers for No.13792

n(4d U B)=34 n(4)=14 n(B)=16
Ansl=| n(A-B)=11 n(B-4)=9 n(4 U B)=30
n(d U B)=25 n(A4-B)=14 n((4 N B))=25

n(union(4, B, C)) = 26 n(d-B)=11 nd n C)=11
Ans2 = n(C—A4)=10 n(intersect(4, C, B))=7 n((4 U B)-C)=15
n(C (4 UB))=1 n(C-(4 N B))=17 nd-B-C)=4
Ans3 =[ans.1 =31,ans.2=43,ans.3=19], , Ans4=20, , Ans5=13
Ans6=8, , Ans7=2, , Ans8=43, , Ans9=5, , Ansl0=140

X Math@MUT XXXXXXXXXXXXXXXXXKXXXXXXXXXXXXXXXXXXXKXXXKXXXKXKXKXKXXME /1-6800102-00028XX
Set02 Answers for No.13794

n(4d U B)=38 n(4)=21 n(B)=22
Ansl=| n(4-B)=13 n(B-A4)=12 n(4 U B)=35
n(d U B)=34 n(A4-B)=13 n((4 n B))=34

n(union(4, B, C)) = 40 n(d-B)=11 n(d nC)=2
Ans2 = n(C—A4)=14 n(intersect(4, C, B))=2 n((4 U B)-C)=15
n(Cn (4 uB))=7T n(C-(4 n B))=16 n(d-B-C)=9
Ans3 =[ans.1 =30, ans.2=51,ans.3=22], , Ans4=23, , Ans5=16
Ans6=9, , Ans7=1, , Ans8=19, , Ans9=3, , Ansl0=140

X [Page = 0007] XXXXXXXXXXXXXXKKKXKXKXKXXKXKXKXKXKKKKKKKKXKKKKKKKXKXX XXX XXX XXX XXKXXKKKKKX



X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXM4E /1-6800102-00029XX
Set02 Answers for No.13795

n(4d U B)=29 n(4)=14 n(B)=19
Ansl=| n(A-B)=12 n(B-A4)=7 n(d U B)=29
n(4d UB)=26 n(4-B)=10 n((4 N B))=26

n(union(4, B, C)) = 40 n(d-B)=11 n(d n C)=15

Ans2 = n(C-A4)=8 n(intersect(4, C, B))=4 n((4 U B)—-C)=24
n(C (4 UB))=5 n(C-(4 N B))=12 nd-B-C)=7
Ans3 =[ans.1 =31,ans.2=57,ans.3=15], , Ans4=12, , Ans5=17

Ans6=8, , Ans7=9, , Ans8=46, , Ans9=14, , Ansl0=120
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXM4E /1-6800102-00030XX
Set02 Answers for No.13831

n(d U B)=36 n(4)=29 n(B)=20
Ansl=| n(4-B)=6 n(B-A4)=15 n(4 U B)=35
n(4d U B)=35 n(4-B)=15 n((4 n B))=35

n(union(4, B, C)) =28 n(d-B)=4 n(d N C)=10
Ans2 = n(C—-A4)=7 n(intersect(4, C, B))=0 n((4 U B)-C)=15
n(C (4 UB))=6 n(C—(4n B))=7 nd-B-C)=4
Ans3 =[ans.1 =39, ans.2 =66, ans.3=22], , Ans4=10, , Ans5=20
Ans6=5, , Ans7=4, , Ans8=51, , Ans9=22, , Ansl0=280

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXM4E /1-6800102-00031XX
Set02 Answers for No.13891

n(4d U B)=33 n(4d)=26 n(B)=23
Ansl=| n(4-B)=12 n(B-4)=15 n(4d U B)=29
n(d U B)=38 n(d-B)=6 n((4 n B))=38

n(union(4, B, C)) = 38 n(4-B)=18 nd N C)=16
Ans2 = n(C—A4)=3 n(intersect(4, C, B))=10 n((4 U B)-C)=18
n(C N (4 UB))=3 n(C-(4 N B))=13 nd-B-C)=8
Ans3 =[ans.1 =42, ans.2 =60, ans.3 =231, , Ans4=15, , Ans5=23

Ans6=9, , Ans7=5, , Ans8=45, , Ans9=20, , Ansl0=30
X Math@MUT XXXXXXXXXXXXXXXXXKXXXXXXXXX XXX XXXXXXXKXXXXXXKXKXKXKXKXME /1-6800102-00032XX
Set02 Answers for No.13915

n(4d U B)=22 n(4)=13 n(B)=18
Ansl=| n(4-B)=10 n(B-4)=5 n(4 U B)=25
n(d U B)=23 n(A4-B)=7 n((4 n B))=23

n(union(4, B, C)) = 50 n(d-B)=17 n(d n C)=12
Ans2 = n(C-A4)=9 n(intersect(4, C, B))=7 n((4 U B)—C)=26
n(Cn (4 UB))=10 n(C—(4 N B))=16 n(d-B-C)=10
Ans3 =[ans.1 =47, ans.2 =72, ans.3=25], , Ans4=12, , Ans5=20

Ans6=9, , Ans7=4, , Ans8=48, , Ans9=30, , Ansl0=120
X [Page = 0008] XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKKXXXXXKKKKXXXXKKKKKXXKKK



X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXM4E /1-6800102-00033XX
Set02 Answers for No.14004

n(4d U B)=31 n(4)=21 n(B)=16
Ansl=| n(A-B)=7 n(B-4)=12 n(4 U B)=28
n(4d UB)=28 n(4-B)=12 n((4 N B))=28

n(union(4, B, C)) =39 n(d-B)=9 nd N C)=13

Ans2 = n(C—A4)=10 n(intersect(4, C, B))=6 n((4 U B)—C)=17
n(C (4 UB))=1 n(C-(4 N B))=16 n(d-B-C)=3
Ans3 =[ans.1 =32, ans.2 =48, ans.3 =221, , Ans4=11, , Ans5=22
Ans6=14, , Ans7=7, , Ans8=57, , Ans9=22, , Ansl0=50

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXM4E /1-6800102-00034XX
Set02 Answers for No.14013

n(d U B)=29 n(4)=12 n(B)=21
Ansl=| n(A-B)=14 n(B-A4)=5 n(4 v B)=31
n(4d U B)=26 n(4-B)=10 n((4 N B))=26

n(union(4, B, C)) =23 n(d-B)=9 nd nC)=12

Ans2 = n(C-A4)=6 n(intersect(4, C, B))=0 n((4 U B)—C)=20
n(C (4 UB))=1 n(C-(4 N B))=6 nd-B-C)=9
Ans3 =[ans.1 =37,ans.2=57,ans.3=12], , Ans4=22, , Ans5=12

Ans6=6, , Ans7=4, , Ans8=26, , Ans9=16, , Ansl0=100
X Math@MUT XXXXXXXXXXXXXXXXXKXXXXXKXKXKXXXXKKKKKXXXKKKKKKXXM4E /1-6800102-00035XX
Set02 Answers for No.14037

n(4d U B)=31 n(4)=20 n(B)=15
Ansl=| n(A-B)=6 n(B-A4)=11 n(4 U B)=29
n(d U B)=26 n(Ad-B)=14 n((4 n B))=26

n(union(4, B, C)) =27 n(d-B)=7 nd nC)=8

Ans2 = n(C-A4)=5 n(intersect(4, C, B))=5 n((4 U B)-C)=18
n(C (4 UB))=3 n(C-(4 N B))=10 nd-B-C)=2
Ans3 =[ans.1 =40, ans.2 =53, ans.3=14], , Ans4=18, , Ans5=16

Ans6="7, , Ans7=2, , Ans8=33, , Ans9=8, , Ansl0=60
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXKKXXXXXKKKKXXXXKKKKKKXMA /1-6800102-00036XX
Set02 Answers for No.14452

n(4d U B)=25 n(d)=14 n(B)=15
Ansl=| n(4-B)=10 n(B-4)=9 n(4 U B)=21
n(d U B)=24 n(A4-B)=6 n((4 N B))=24

n(union(4, B, C)) =43 n(4-B)=13 n(d N C)=10
Ans2 = n(C—A4)=11 n(intersect(4, C, B))=6 n((4 U B)-C)=15
n(Cn (4 uUB))=3 n(C-(4n B)=17 nd-B-C)=17
Ans3 =[ans.1 =35, ans.2 =60, ans.3=12], , Ans4=18, , Ans5=9

Ans6=9, , Ans7=0, , Ans8=28, , Ans9=20, , Ansl0=150
X [Page = 0009] XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKKXXXXXKKKKXXXXKKKKKXXKKK



X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXM4E /1-6800102-00037XX
Set02 Answers for No.14823

n(d U B)=39 n(4)=28 n(B)=27
Ansl=| n(A-B)=13 n(B-4)=14 n(4 U B)=39
n(d U B)=41 n(d-B)=12 n((4 n B))=41

n(union(4, B, C)) =47 n(d-B)=6 nd nC)=12

Ans2 = n(C-A4)=15 n(intersect(4, C, B))=2 n((4 U B)-C)=17
n(C (4 UB))=7 n(C-(4 N B))=17 nd-B-C)=4
Ans3 =[ans.1 =34, ans.2 =58, ans.3=19], , Ans4=13, , Ans5=21

Ans6=10, , Ans7=9, , Ans8=40, , Ans9=4, , Ansl0=50
X Math@MUT XXXXXXXXXXXXXXXXXXKXXXXXKXXKXXXXKKKKKXXXXKKKKKXXM4A /1-6800102-00038XX
Set02 Answers for No.14824

n(4d U B)=28 n(d4)=23 n(B) =24
Ansl=| n(4-B)=10 n(B-4)=9 n(4 U B)=33
n(4d U B)=33 n(4-B)=9 n((4 n B))=33

n(union(4, B, C)) =39 n(4-B)=10 n(d N C)=10
Ans2 = n(C-A4)=15 n(intersect(4, C, B))=8 n((4 U B)—-C)=14
n(C (4 UB))=0 n(C-(4 N B))=23 nd-B-C)=2
Ans3 =[ans.1 =34, ans.2 =50,ans.3=21], , Ans4=10, , Ans5=9

Ans6=9, , Ans7=2, , Ans8=37, , Ans9=20, , Ansl0=140
X Math@MUT XXXXXXXXXXXXXXXXXKXXXXXKXXKXXXXKKKKKXXXKKKKKKXXM4E /1-6800102-00039%XX
Set02 Answers for No.14847

n(d U B)=34 n(4)=19 n(B) =14
Ansl=| n(A-B)=7 n(B-4)=12 n(d U B)=29
n(d U B)=26 n(Ad-B)=15 n((4 n B))=26

n(union(4, B, C)) = 45 n(4d-B)=16 nd n C)=11
Ans2 = n(C-A4)=9 n(intersect(4, C, B))=9 n((4 U B)—-C)=21
n(C (4 UB))=5 n(C-(4n B))=18 nd-B-C)=17
Ans3 =[ans.1 =39, ans.2=51,ans.3=21], , Ans4=9, , Ans5=9

Ans6=15, , Ans7=3, , Ans8=49, , Ans9=5, , Ansl0=90
X Math@MUT XXXXXXXXXXXXXXXXXKXXXXXXXKKXXXXXKKKKXXXXKKKKKKXMA /1-6800102-00040XX
Set02 Answers for No.14881

n(4d U B)=36 n(4)=21 n(B)=19
Ansl=| n(4-B)=10 n(B-A4)=12 n(4 U B)=33
n(d U B)=31 n(4-B)=14 n((4 n B))=31

n(union(4, B, C)) = 42 n(d-B)=12 nd nC)=12
Ans2 = n(C—A4)=14 n(intersect(4, C, B))=6 n((4 U B)—-C)=11
n(Cn (4 UB))=9 n(C-(4 N B))=20 nd-B-C)=6
Ans3 =[ans.1 =33, ans.2 =58, ans.3=21], , Ans4=22, , Ans5=12
Ans6=8, , Ans7=1, , Ans8=45, , Ans9=16, , Ansl0=50

X [Page = 0010] XXXXXXXXXXXXXXXKXKXKKXKXXXXKXKXKKKKKKKKKKKKXKKXKXXXXX XXX XXKXXXKXXKKKKKX



X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXM4E /1-6800102-00041XX
Set02 Answers for No.14911

n(4d U B)=28 n(d)=17 n(B) =21
Ansl=| n(4-B)=12 n(B-4)=8 n(4d U B)=29
n(d UB)=29 n(Ad-B)=8 n((4 n B))=29

n(union(4, B, C)) =22 n(d-B)=4 nd nC)=7
Ans2 = n(C—A4)=13 n(intersect(4, C, B))=1 n((4 U B)—C)=13
n(C (4 UB))=2 n(C-(4 N B))=14 n(d-B-C)=3
Ans3 =[ans.1 =41, ans.2 =53, ans.3=13], , Ans4=9, , Ans5=19

Ans6=5, , Ans7=7, , Ans8=45, , Ans9=16, , Ansl0=30
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXM4E /1-6800102-00042XX
Set02 Answers for No.15009

n(4d U B)=30 n(4)=22 n(B)=20
Ansl=| n(4-B)=7 1n(B-4)=9 n(4 U B)=34
n(d UB)=29 n(4-B)=14 n((4 N B))=29

n(union(4, B, C)) =33 n(d-B)=7 nd n C)=17
Ans2 = n(C—A4)=10 n(intersect(4, C, B))=4 n((4 U B)-C)=15
n(C (4 UB))=3 n(C-(4 N B))=14 n(d-B-C)=3
Ans3 =[ans.1 =27, ans.2 =54, ans.3=20], , Ans4=19, , Ans5=38

Ans6=16, , Ans7=10, , Ans8=47, , Ans9=18, , Ansl0=80
X Math@MUT XXXXXXXXXXXXXXXXXKXXXXXXKXKXKXXXXKKKKKXXXXKKKKKXXM4E /1-6800102-00043XX
Set02 Answers for No.15014

n(d U B)=32 n(4)=17 n(B)=13
Ansl=| n(A-B)=8 n(B-4)=12 n(4d U B)=25
n(d U B)=25 n(A4-B)=12 n((4 N B))=25

n(union(4, B, C)) = 24 n(d-B)=38 nd n C)=11

Ans2 = n(C-A4)=5 n(intersect(4, C, B))=5 n((4 U B)—-C)=21
n(C (4 UB))=2 n(C-(4 N B))=10 n(d-B-C)=3
Ans3 =[ans.1 =37,ans.2=63,ans.3=17], , Ans4=15, , Ans5=18

Ans6=16, , Ans7=5, , Ans8=30, , Ans9=12, , Ansl0=100
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